UL/ B SPTTHRAE N RS )R

T BRI B3R

SN )0

kA

W H

HEH

W H

—RRARTE

BUFEES TS

— AEEURA

3,019. 93

. BEEXH

3,019. 93

3,019. 93

M A SEBU RN

3,019. 93

AT S

U S TR

HhAE L

] 5 >

310. 00

310. 00

>
S

Sz S0
S

e
=

Ik

FRAHRSN

SCARTRE IR T S AR B

tho ORBR AL S

2,667.98

2,667.98

b RIS S

AR

10. 55

10. 55

TREMMRSC

W2 X

BRI

SIS

FEUEBIR Tl A5 5453

[N 8 R i

SRS

PRI HAR X 3T

B AR BRI R S

55 PR

31. 40

31. 40

A B it 2

A B TR S

R it S BB

i # 2%

Fofth Sz

R

55 IE A

BT

195 RAT S

PURERE I E fit 2 3

=, hAEgEE

T G

(=) —MAITE LK

(7)) BUNTEE S TR

LN

3, 019. 93

A

3, 019. 93

3, 019. 93




—RAXEME T HE
T/ AL SRR EANFE S RS JITC
X ThRE R H 2022 TE S
B s
BEHAR At EAXH TRH 32
* N R
& it 3,019.93 345. 02 2, 674. 91
203 FE 17 5 H 310. 00 310. 00
99 LA R BT 2 310. 00 310. 00
99 | HAB R CH 310. 00 310. 00
208 Fhox TR AL S H 2, 667. 98 303. 07 2, 364. 91
05 (N EN e 35. 46 35. 46
05 |WLoCEhlk o fr RE A TR 2 RIS 2 S 23. 45 23. 45
06 [HLOGZR b S (3 MR D A 4 58 28 S 11.73 11.73
99 | HABATEF AL AL TR S 0.28 0.28
08 k7l 1, 655. 16 1,655. 16
01 |FET-fEil 80. 00 80. 00
02 |fFkixdl 160. 00 160. 00
03 |EZER. BMENEFEFN 228. 00 228. 00
05 | XAt 1, 000. 00 1, 000. 00
08 [Z 20 & Bt i E A 4P 7.16 7.16
99 | HABILIE S H 180. 00 180. 00
09 BERE 617. 60 617. 60
01 [BfLizH 307. 00 307. 00
02 | % BAFE ST BUMN RO B IRAR A 5722 B 43.61 43.61
04 [IBfLIEHEE 22.51 22.51
05 [Nl FH%E 170. 12 170. 12
99 | HAhRBZ E S 74. 36 74. 36
28 BIEENEHHES 359. 09 266. 94 92. 15
01  |fTBUELT 139. 15 139. 15
04 |HEMRE 59. 80 59. 80
50 |FhlkizfT 127.79 127.79
99 |HAMBRRZENFSE RS 32.35 32.35
99 FoAt A S R B S 0. 67 0.67
99 [ HAdAk S PRI S H 0. 67 0. 67
210 DA RS H 10. 55 10. 55
11 TR A YT 10. 55 10. 55
01  [rBUeafrkEsy 4.51 4.51
02 | FLpfr Ry 6.04 6. 04
221 A3 PR B S H 31.40 31. 40
02 5 S 31. 40 31. 40
01 |fEEARE 31.40 31. 40




—RAXMEEAZHR

I/ AL TR E NS R

S Tt

XHETFFHEME 20224 F AT
FH g
FHEHAZK &t ARER NEEZS ¢
ES & it
& i 345. 02 294. 84 50. 18
301 THAERCH 294. 52 294. 52
01 FEAT % 80. 56 80. 56
02 NGNS 96. 83 96. 83
03 WKl 2.81 2.81
07 SRR 35. 37 35. 37
08 WL S e A TR 2 LRI 5 B 23. 45 23. 45
09 WPV A 4 80 2% 11.73 11.73
10 B LR AR T RIS 4 2 10. 55 10. 55
12 HoAthdd: 2> PR 4 2 0.67 0.67
13 AR 31. 40 31.40
14 EI7 1.15 1.15
302 R it IR 55 5 49.18 49.18
01 IrA 17. 58 17. 58
04 FoL8 0.12 0.12
05 KB 0. 30 0.30
06 HL 2 1.80 1.80
07 W L % 3. 60 3. 60
11 FETR B 13.80 13.80
13 4ele (B % 2. 40 2. 40
16 i)l 2% 0. 10 0.10
17 NFHEE 0. 50 0.50
26 55 5% B 0. 20 0.20
29 e F 2 2.01 2.01
39 HoAth Az 388 9 6. 77 6. 77
303 XA NFISJEE (b By 0. 32 0.32
03 BIR (%) %%
04 P4
05 AETEAN 0.18 0.18
07 BETT SR Ah 0.10 0.10
09 K4 0.04 0.04
99 oAt A AR R BEHIHMN
310 BEAME S 1.00 1. 00
02 IABEIE 1.00 1. 00




—RARTE “ZQ” BBRIUR
WU/ AL AT TR EAS SR SHURAL: Ti0
2021 A S 202245 A
AR R DS RERBRENT R
~ 4 th Py ~ B4 "
it ) % e AHFE aymE | BAHERR it () R e AHR%E ngmE | BHEERER
W 7 LT o
0.50 0.50 0.50 0.50




BFEEEME X Hh®

I/ AL TR N R

EREAL: JITT

S ThRERFL B

2022 S K

Bt H 5

S EN

BHE B a1

A

B E >

mp
R

T ARRIEEE




BT/ AL TR NS

BRMESHE ‘=07 @HXHR

SHUAL: T

20214E TR H 20224E FHH
A AR BB R A AEREME BB
S 72y 4 A
ait 5 2 o Bl LERE AR ) B it L4 L5 AHBHER
B17 24T

e ARTEER .




/AL ST BCE NS R

LS SE S

BRI I

KA

X il

o H

WEH

A

WEH

AT

3,019.93

v R A IR S

v BUFTESE GRS

|l

AN

1]

- EA BALE SN

1]

NEslip

310. 00

~ WMECL BB SN

NP7 o A

E
Tiy FkUA

- HAEH

VARSI st/ N LV N

TNy BREARRSCH

RPN ER K A ot LN

v SRR B SRS

I\ FE AL E N

v e PRBRRT S H

2,667.98

Jus HepbeN

v AR OREE S SO

v PR

10. 55

 HREFMRSC

v AL

v RIS

V ACE IS S

UM T s iy

RIVAN

(GRS NS Fi

VSRS

+ TRBH Al X ST H

~ BB RS

AR OREE S

31. 40

= RIS

. EAERAZEE S

= RFPA LN 2E B

Vo, i 2k

-

Ty HAhsZH

-

AN~ FRES

-

B BIBIEASH

-+

I\ AT B

—+

Jus B RATH S

=t

v PO [ £ 22 HE 32

EERANETH

3,019.93

FEIHAET

3,019.93

ARG

LR AR

WA & it

3,019.93

XA

3,019.93




BTN ER

AL ST
FetR
BT (AR ARG BWIT (R B
it 2% —RARBHBHEN | BUFEREEFREEREA | BEERALETHEREAN | MBEEFEERSBA A EFFBIBN | HREBAL SR | BB 2ERA HAbA
& it 3,019. 93 3,019. 93
320 TR FEANFHS SR 3,019. 93 3,019.93
320001 TR E NS 3,019. 93 3,019.93




UL/ TR EA SR

BIZHEE

UL TiTT

XihThResr&FH 20224F A KK
B Y A H
FHE AR At W H M
x | & | @ ARER | amEn
& i 3,019.93 294. 84 50. 18 2, 674.91
203 I 95 3 310. 00 310. 00
99 HoARE B 3 310. 00| 310. 00
99 [HAREP; 310. 00 310. 00
208 FE S AR BE A AS H 2, 667. 98 252. 89 50. 18 2, 364. 91
05 ATECENL AL IR S 35. 46, 35. 46
05 [BLOGER LB fr B A TR RIS 2R 3 23. 45 23.45
06 |WLIGIR Ml 5L R A 4 4 2 S Hh 11.73 11.73
99 [HAbATECE AL RS 0. 28 0.28
08 £l 1, 655. 16 1, 655. 16
01  [FET-4AM 80. 00 80. 00
02 |faEkALL 160. 00 160. 00
03 |TEZH 5. BAEFEANAIEHNY 228. 00 228. 00
05  [X&Lethfs 1, 000. 00 1, 000. 00
08 [ZU 40 it e B 4 AP 7.16 7.16
99 [HABRIL 180. 00 180. 00
09 Bz E 617. 60 617. 60
01 [Bfrhiad 307. 00| 307. 00
02 |ZEBNBEABUMN I IRIR A 7 22 B 43. 61 43.61
04 [IBALREHHAT 22.51 22.51
05 [EBNENL T2 8 170. 12 170. 12
99 | HefthiR i EH S 74. 36 74. 36
28 BIAENEHES 359. 09 216. 76 50. 18 92.15
01 [{TBUEAT 139. 15 90. 14 49.01
04 |(HEM)E 59. 80 59. 80
50  [FREAT 127.79 126. 62 1. 17
99 | HAIRAZ TN H 55 E S 32.35 32.35
99 oAt ph 2> R IR AL S 0. 67 0. 67
99 | Hefth A 2> PRI AL ST H 0. 67 0. 67
210 PAAfE RS 10. 55 10. 55
11 L& A ¥ A VTig 10. 55 10. 55
01  |ATEURALEEST 4.51 4.51
02 | Fl s fr sy 6. 04 6.04
221 55 ORBE 3 31. 40 31. 40
02 55 B S 31. 40 31. 40
01 |(EEAFRE 31.40 31. 40




WE XA EmE

St T30
RfEK L LS BRRGTERE (D fitd AR —BiR = B BRRIER | RSN | SUUERRR | AERE | HETRE

7 bR i A PRECEN BUBEAGR RAER S  3 = 100 T/ N 20 IE bR
[ b [R50 QUi AR B A B TR, n) Q0L = 95 % 10 EfE
510683217000000164981 -8 1% A #8700 10.00 180.00[ %476 8 it Ml s SO = i u 0 RS
7 b LRSI 52 L ] = 1 ks 10 EfE
7= bR B i PR FEANE = 20000 A\ 20 IE R
7 ffi b AR k= < 180 it 20 EfR
7= bR i A Vi R A TR S i = 95 % 10 EFRR
7t b b = d s 20 EfR
R SR LEx HEER i 95 % 5 EFRR
1068321 HERE 10.00 55.00] EFYL N\ LLRERERE | AR i H B4 = 55 it 20 EfR
7= bR B it 11 LR A B = 8 A 20 EFRR
7 b LRSI 2 A ] = 1 4 10 EFRE
i fithR Hhedadibs  |MFRR, KRR E = 95 % 5 EFHRR
8 55 %4 i 14| S35 5 BT NF R = 95 % 5 EFRE
i A X5 RF BRI s RN K = 100 % 10 IE bR
b SRR E 5000 T 10 EfE
7t itk B AR B AL 500 it 10 EFIEER
1068321 AR 10.00 1,000.00 7€ 5 S AREDMI R L% | i L ks - 2000 = 0 Lt
7 bR B iR LS = 10000 T 10 IE bR
7 #fi b Rk AR ] = 1 4 10 EfR
7= bR B i LSS IIN = 420 A 10 R IFRR
7 b A i H B4 1000 it 10 EFR
i fithR HedibE | RCIEEA, SEBTLY) = 95 % 5 EFRR
7t b Rk AR ] = 1 4 10 EfR
7= bR B i S R A S 4 A 30 IE R
fp— PT— 10,00 sl e . 7t ffi b A ff bR e 4.8 it 10 EfR
R S L el 5 1 = 98 % 5 EFRR
7 b A B bR R = 990 76/ A*A 30 IEFEbR
i fithR s ES B N e = 90 % 5 EFRR
7 b A B bR [l LA 5 i = 100 % 10 EfE
7 bR RS 5 I ] = 1 4 10 EFHRR
7t b by AR A = 16 & 10 EfE
7= bR i 2 it R AL R = 4.2 Jize 10 IE bR
fp— P 10.00 P T 7t #fi b b R RSN ETE = 1 4 10 EfR
i fithR (TR T (AR, AL 98 % 10 EFRR
7 b A B bR (REERRH AR = 100 % 10 EFR
i fithR s SR = 90 % 5 EFRR
B 5 i 2 A 22 2 i 2 0 = 95 5 IEFfbR
B i LsRasken] = 44 Pk 10 EFRR
A b RHUTH B < 310 it 10 IR
B35 RS G HEA) MK = 95 % 10 EFRR
i B ffi b MAREEE K G = 1.6 LN 20 EfR
51068321T000000165017- K22k L% 5% YCHE A 10.00 310. 00| AN KA F 4 BIE AR 7 i 7 i A MR EAFHTHE = 2 RIS 20 EFRR
7 b LRSI 2 A ] = 1 ks 10 EFRE
i fithR FTRFAIAR T (3R T SR e b 96 % 10 IE R
7 b b MRS = 180 A H 10 EfE
R AR B35 08 i A R ol T A A 1 = 95 % 5 IE R
7t b A I H 2 22.8 it 10 EfE
7= bR i A 7 AT bR 2000 T/ N 20 IE R
1068321 k4 T4 B R 10.00 2280 AAEPIUCN EE R, AX920{7 kiR by A ) IR = 4 L3 20 EfE
i fithR SRR | RLT TR s fiiF) “q= 98 % 5 EFRR
7 b by B ol AT A = 114 A H 20 EFRE
7 bR i 2 it i IV ] = 1 4 10 EFRR
7 b b [ B AL TS = 100 A H 20 EfE
7= bR A iR TG B 4 = 48 Jizt 20 IE R
fp— AP 10,00 PO I ——— 7 b A B bR i AR = 100 20 EfE
7= iR i 2 it i I ] 1 4 20 EFRR
it oM | RZASIRE, REOEAER = 95 % 5 EfE
R SR B35 08 i 8 A R il A 5 1 = 95 % 5 EFRR
[ b 5 55 0 i A R e - i R 1 = 95 % 10 EFRE
7= bR i 2 it i IV ] 1 4 20 EFRR
fp— TP———— 10,00 [N T 7 b A ff bR I H 2 = 71. 51 it 10 EfE
7= bR B i i BRI e T A 109 A 20 IE R
it HRGHRE | R T = 95 % 10 EfE
7= bR i A 7 SEER 100 % 20 IE R
7 b by [ B A LTS 114 A 10 EfE
7= bR i A 7045 AT $hd7 Rt 500 e/ N 20 IE R
7 b A B bR 704 L EdAT bt = 600 6/ A 20 EFRE
51068321T000000165030~ e 746 - i K 87t 10.00 6.58  Jyfdl HF HbR L Al AR = 98 % 10 EFRR
7 b A b I H 2 = 6. 58 it 10 EFRE
7= bR i 2 it i I ] 1 4 10 EFRR
it HEMG R |BZAAKRORE = 98 % 10 EfR
7= bR i A 7 AT bR = 110 T/ N 50 IE R
it HEMG R | BZAAKRORE = 98 % 10 EFRE
51068321T000000165032-38 #h 2% T P ol 45 F 10.00 120 iRk t i g kBT - B A & A
[ b 5 55 0 i A R e T B R = 98 % 10 EFRE
AR EFIGH 4 = 1.2 S 10 EFRR
Rk 2 A ] = 1 ks 10 EfE
i A R IR T (R % = 100 % 20 IE bR
7t b by R PR Al T T A = 20 A H 20 EfE
51068321T000000165034- 1 Al 74 BT 10.00 20.00  J9204 F EFAL T F it et = * u 0 RS
7t b A b I H 2 = 20 it 10 EfE
[ SR P55 RS G HE ) 9 Rl T B 1 98 % 10 IE R
7 b LRSI 52 A ] = 1 ks 20 EFR
[ SR 55 R i HE A i B SR = 95 % 10 IE R
7 b A B bR SRR = 6000 6/ 4 20 EFRE
7= bR i A 7 Leriudrbrife = 7000 JB/ 20 IE R
1068321 WEEN 10.00 307.00|  SEILIEH I L5 ] bR AR LG H 4 = 307 it 10 EfR
7= bR B it R = 100 % 10 IE R
it oG | REESURE, R LE R A = 95 % 10 EFRE
7= bR i 2 it i I ] = 1 4 10 EFRR
7 b A bR I H 2 = 74. 36 it 20 EfE
Rt g PS5 RS G HE) P ol ISR 24 i O RN B 1 = 95 % 10 IE bR
fp— LSRR A 10,00 24,39 . 7t b Rk 52 A ] = 1 ks 10 EfE
i fithR HedabRbE | BRASIRE, MRS EE = 95 % 10 IE bR
7t b A B bR BT bt = 61959. 96 6/ A 20 EfE
7 bR B i DRES LSS = 12 A 20 IE R
7 b A B bR 7 8 7 N\ e b = 24870 6/ A 5 EFR
7= bR i A 2 AL R 30780 I8/ N 5 EFRR
7 b A B bR 21T b = 6480 6/ A 5 EFR
7= bR B i RS R NI A H = 27 L3 10 EFRR
7 b A B bR = 1400 76/ A*A 5 IEFEbR
7t itk AR = 80 JigE 5 EFRR
- —— 10,00 50,00 BREAGEN RS it 2 bR = RS R QR = 98 % 5 EFRE
R SR P55 08 i M) = D P O L AR R i 1 = 95 % 5 EFRR
7 b A B bR R 240 TR bRt = 26440 6/ A 5 EFRE
7= bR i 2 it i I ] = 1 4 5 EFRR
7 b b RS TR = 16 A H 10 EfE
7= bR B iR TRBEAR TR A = 1 A 10 EFRR
7t b by A RUR A B = 8 A H 5 EfE
B i RBRIE AT NGRS 8 L3 10 IE bR
it LB SRR BTN = 98 % 10 EfE
7= bR B it i BT BTN = 311 A 20 IE R
s e 1 e o neoan s man Eonan. fer . R PSSO L2 L 8 55 0 i 4| AR £ 7 A = 98 % 10 EFR




PREHK WE & BARTRAR (%) Ll — ik =ik SRR | AEMBIREE | SUERAL | AFRR | BESAK
T ] i T T WL e - 160 i 10 R
7 bR i A SEERIE = 100 % 30 IE bR
LRSI 2 A ] = 1 ks 10 EfE
PS5 RS G A R S 18 5 SN = 98 % 5 IE bR
HLuGHERE | Eimlkls . ELHRAEN = 98 % 5 EfE
7 bR B iR KEININ:S = 1034 A\ 15 EFHRR
7t b by il £ A B = 228 A 15 EfE
1068321 1S SIRF NEEAM 10.00 228, 00|73 A fRHER G A 5 Fi
7 bR i A AT bR stk T Al 15 EFRR
7 b b ESHREANY = 204 A 15 EfR
7= bR i 2 it R ] = 1 4 10 EFRR
7 ffi b A ff bR LG H 4 = 228 it 10 IEfR
i fithR s SR 95 % 10 IE R
[ fi b B 5 i 2 A 22 2 i 20 = 95 % 10 EfR
7= bR i A 7 PR R = 100 % 20 EFRR
1068321 ELRE 10.00 2.96 EERAHPBMA LE00E | iR AR I H 2 = 20600 T 10 EfR
7 bR B iR LB 20 3 20 IE bR
[ b 8 55 08 i 4| 2 J i = 98 % 10 EFRE
7= bR i 2 it i I ] 1 4 10 EFRR
7 b LRSI 2 A ] = 1 ks 20 EfE
R S PS5 RS G A 22 A AR = 95 % 10 IE bR
7 b by i = 2 L3 20 EfE
1068321 DT 10.00 4.00] I, 9. 0A%EEZ,
7t itk AR I 4 = 4 S 10 EFHRR
7t b A B bR i seft LR Jef 20 EfE
i fithR s SR = 95 % 10 IE R
A LG H 4 = 11.65 it 10 EFR
55 RS i A i B SR 95 % 10 IE R
7 B ffi b AR N ERIE & 100 % 20 IEfR
51068321T000000165049-i8 {2 F- AN AR £ 429 10.00 1065 AAEEEL AEL B Ao itk Bk i [BERT AL S A A SR = 98 % 10 EFRR
7t b Rk AR ] 1 4 10 EfR
7= bR B i i 30 % 20 EFRR
it eGSR = 95 % 10 EfR
7= bR B it LT £ K = 6 % 10 EFRR
7 b A bR LG H 4 = 4. 32 it 10 EFRE
i fithR AR | RO R E L 95 % 20 IE bR
51068321T000000165051 izl %l ¢ 242 3¢ 10.00 4.32) R TR
7 th b b 2 A ] = 1 ks 10 EfE
7= bR B iR TRl A = 114 L3 20 EFRR
[ b 8 55 08 i 4| bl T4 = 95 % 20 EfE
7= bR i 2 it 5 I ] = 1 4 20 EFHRR
7t b by R 55 1 A BOUKBEIR BT AN = 2 LS 20 EfE
R S 55 08 i A i B AR = 95 % 5 IE R
510683217000000165055-18 £ % N ZHEF £ 10.00 1000 LRFIFRBAGT G, 5
7t b A ff bR LG H 4 = 10 it 20 EfR
i fithR e b | (R TSR 95 % 5 EFRR
7 b A B bR FahfE N = 90 % 20 EFE
7= bR B i [ H iR = 10 % 22.5 R IFRR
7 th b i i At b TR GHOTE | GhiT¥-As < 5 % 22.5 IR
51068321 V000000047869~ 74 % 423l 1 10.00 6. 77| (REE AL ER, AR
i fithR i RIRRR  [JEFE (R = 100 % 22.5 IE R
it FAGHRE | “=A8%" BRELTE LN (SA%%kk< 100 % 22.5 IR
bR e 2R bR KGR BRI RN (SARRIE 100 % 22.5 R [ RR
7t b A B bR T mEEEE GO, | (TR < 5 % 22.5 IR
1068321 B#EAMER (7B 10.00 AL 40| (RELARAL FFIE, ST
i fithR R RIRRR  [JEFE (R = 100 % 22.5 IE R
7 b b L H sk < 10 L3 22.5 IR
7= bR B i [ H iR = 10 % 22.5 R IFRR
- it EFAGHRE | “=08%7 BRIRELTE LY (SA%%kkR< 100 % 22.5 IR
1068321 ARl TEO 10.00 0. 84| RELARAL F FEHE, ST -
7 bR i A 7 B g GO | GUTECREH < 5 % 22.5 R IFRR
i AGHEE  [EH RS = 100 % 22.5 EFRE
bR i ditibe | CSA%RT BRI (SABREN< 100 % 22.5 R [ RR
- 7t b A B bR T mEEEE GO, | (TR < 5 % 22.5 IR
1068321 ARFIgE (Hlk) 10.00 1 17| (R B R, SR
7 iR B i [ H iR = 10 % 22.5 R IFRR
it i AGHEE  [EH RS 100 % 22.5 EfE
7t itk RS i R 100 % 22.5 EFRR
51068322R000000248664-T- e 32 (720) 10.00 89. 69( PR LIFAIGEOR, (RMCT 3
7= ffi b by LR = 100 % 22.5 EfE
7t itk BRARER BRI = 100 % 22.5 EFRR
51068322R000000248667- L 5% ! (k) 10.00 125. HAAT RGBSR, PR B
7 b LRSI it R = 100 % 22.5 EFRE
7t itk RS R = 100 % 22.5 EFRR
51068322R000000248696- 74 R (70 10.00 10. 03P HHATAYECR, (RBET 5
7 th b ity EERFE = 100 % 22.5 EfE
7t itk RS i R 100 % 22.5 EFRR
51068322R000000248697- 7 73 (k) 10.00 13. HARAT RGBSR, PR B
7 b b LR 100 % 22.5 EfE
7t itk RS i R = 100 % 22.5 EFRR
51068322R000000248698-BLlk 45 4> (70 10.00 5. 02 PERRLAFAI GBI, (RMCT 5
7= ffi b by LR 100 % 22.5 EfE
7t itk RS i R 100 % 22.5 EFRR
51068322R000000248699- Lk 45 4> (k) 10.00 6. 71 PERRFAI BN, (RMCT 3
7 b by LR = 100 % 22.5 EFR
7t itk BRARER BRI = 100 % 22.5 EFRR
51068322R000000248702- =47 7 (1750 10.00 1. HAAT RGBSR, PR B
7 b LRSI i R = 100 % 22.5 EFR
7t itk BRARER BRI = 100 % 22.5 EFRR
51068322R000000248704-FR A7 3 (k) 10.00 6. HARAT RGBSR, PR B
7 th b LRSI i R = 100 % 22.5 EFRE
7t itk BRARER BRI 100 % 22.5 EFRR
51068322R000000248706- ek A5 (R (il 10.00 0. HARAT IR, PR B
7=t b T i R 100 % 22.5 EfR
N 7=t bR LS SEHRMFE = 100 % 22.5 IE R
51068322R000000248707-fE: 75 A1 & (1780 10.00 12. HAAT RGBSR, PR B
7 b LRSI it R 100 % 22.5 EFRE
) 7 bR i 2 it i R 100 % 22.5 IE R
51068322R000000248708-FF: 75 A1 (1) 10.00 18. HARATHIRBR R, PRI B
7 b b LR = 100 % 22.5 EfE
7t itk RS i R = 100 % 22.5 EFRR
51068322R000000248712- 4= T4 3% (k) 10.00 0. HARAT IR, (R B
7= ffi b by LR = 100 % 22.5 EfE
7t itk RS ERESH = 100 % 22.5 EFHRR
51068322R000000249365- 4K 3 (710 10.00 0. HARAT IR, PR B
7 th b ity EERFE = 100 % 22.5 EfE
7t itk RS R 100 % 22.5 EFRR
51068322R000000249367— 4K 3 (7.l 10.00 0. HAAT RGBSR, PR B
7 b by LR 100 % 22.5 EFR
7t itk BRARER BRI = 100 % 22.5 EFRR
51068322R000000249368 452 32 (i) 10.00 0. HAAT RGBSR, PR B
7 b LRSI it R 100 % 22.5 EFR
7t itk BRARER BRI 100 % 22.5 EFRR
51068322R000000249587- BB A 01 £2 8 (1780 10.00 0. HARAT RGBSR, PR B
7 b LRSI i R = 100 % 22.5 EFRE
R SR 35 08 i ol L i = 98 % 10 IE R
7t b i B ffi b FrE RSB < 2000 6/ A 20 IR
i 2 it i I ] = 1 4 10 EFRR
Sl L 10.00 22. 51|y BN At BT 37
e LRGN | (R S B 98 % 10 EFRE
7= bR B iR %2 BT ol LB A 29 A 20 IE R
7 b A Lk 22. 51 it 20 EfE
R SR P55 08 i ) 52 5 50 WHE LA B R PR il = 95 % 10 IE bR
7t b by 4B hRER A 14 & 10 EfE
7t itk AR I H 4 23800 it 10 EFEER
. 7 b by 5 Eh RS R = 14 & 10 EfE
A 10.00 2. 383l e R A, V) dcAR AR
7= bR i 2 it LELLS = 10 4 10 EFRR
A B bR £ LB IDRER SR % SthritE = 500 L/ 4 10 EFR
i A A ik RS bR = 1200 T/ 20 IE R
oG BRI S R e = 95 % 10 EFE
7= bR i A 7 SN 100 % 10 IE R
7 b i EFHBT 4 A 10 EFR
7= bR A iR TG B 4 = 436100 T 10 R IR
R b B 5 i 2 P T % BB A1 BOE T $HR T EE = 98 % 10 EFRE
510683227000000358085- 7 B B A 51 %2 10.00 43. 61315 SR 2 R AL R B it ESTBURLBIRA G = 1 A 10 EFRR
b LALRAEFERT = 1 A 10 EFRE
7= bR B iR [BA4F LARTIEUR % BB AL B = 2 A 10 IE bR
7t b Rk 2 A ] = 1 ks 10 EfE
i fithR e b | (RBRBUR S FUR R B R R K = 98 10 IE PR




BRI (SAfY) BAZHSYRIMERE

2022 HED

EEE | W AEEEaE | [ I | | '
EFXH REXH
BHERWR (%) it [ wmmw | eraEs 2uEs it [ MEER [ srmz | wwas
30199255.89 3450155_89| 3450155.89‘ 26749|00.00| 26749100.00 |
[:2 223 EERE
LEEONAES 3 NGUEALYE . M 3. SURLEE. R, BULES . SRR . BRI AT . r R, ]
=
£% {RBEHLRIE T L I KLY ApAREIE Y AR HRE U T P RIS, ARSI RSO, ALY, HURbIZIE
It H S I BERFEAEEIA o 2 MERE: 3. MR ARBLRBAEDID ¢ 4 CFRWRr G 5. KR LF R VN
(REEIRE T RREE |, TR AR 3 . + e IBETRET . flTESRHHREESBETINSEE | BRETREETRRIREES | RRREE
BT, RHEREA R, NEFURIE | T . iE . NEETSE T . - IREE
HIBEEA « IhiEET AEANERES | SEPEARRSENG  BRHBELRN . (PREN . ERIGE . BRTREEINE | RERREARFEE .
FREGIET
—@®ink =i e BN BORARIFE SRR nE
{RFEAH BB L R AR A = 2312 A 2
ECINLIN 3 = 27 A 2
TN R SRR AL = 7 A~ 2
EEZSE NN 1 = 180 A 2
LECES SRV 1 = 228 A 2
UL VNS = 1 A 2
3T R R S SRS NVN g = 4 A 2
R GEIN 1 = 120 A 2
DREEEIAL = 2 kg 2
EitaER = 20 L3 2
TR & AR R = 30 kg 2
it i
LEIN-PN1 = 1034 A 2
EESE VN = 16 A 2
ESILUN 3 = 8 A 2
Al BT AR = 108 A 2
iR F AN = 291 A 2
EXEREPN = 2 A 2
B LISWN q = 5 A 2
EESIZVEIN 4 = 12 A 2
P X IN YN = 8 A 2
(23 VEION 4 = 176 A 2
EE SR RSN = 20 A 2
BT NI IR AR LR = 24870 TG/ N 1.5
7 3 b
ORI S bRt = 1100 76/ A*A L5
DHERAN S iR = 100 % 1.5
1 <K FE BT R bR = 140 TG/ N L5
F_\I‘ Bk WAL bk = 500 i 15
i R - 51450 75/ N L5
§ AR = 30780 6/ A 15
g AR A ST R AN B B RN B AR = 50 7t/ H L5
HEEERTEN . REEAKR . R R = 100 & 1.5
bl T R b = 2000 76/ N L5
Tl TR ST (02 BLED = 600 6/ N L5
3
el T TR AT hRAE (TOS LT = 500 76/ N L5
SRR S = 5000 G 1.5
st P = 2000 b L5
ESA RS o = 10000 TG 1.5
MR I S brt (AR = 20000 PN L5
MRS AR b (Kt = 16000 1.5
GRS E N = 10 % L5
R ATy U M (€8] = 7000 TG/ 1.5
REFE N — R AMERE (LR = 6000 76/ L5
DEES ZHCETS L VNG ¢ = 5163. 33 76/ A*H 1.5
B A N R b = 26440 6/ L5
LEccicy 5 kI ] = 1 &3 2
A (LRI V4 = 2674. 91 it 2
{2 B AR = 90 % 1
B R AR R R TT A = 90 % 1
ROBMBRN , HhBFILI) = 90 & 1
e R b ESZESERE) = 90 % 1
a3 b T A BE PR ST = 95 & 1
T AT = 95 % 1
R AR G O = 95 & 1
~ KA 4 RLAE A B = 90 % L5
e AT, TR = 90 & 1.5
2 BN R S = 95 i L5
il T T 9 = 95 & 1.5
PN Vet S = 95 i 1.5
FEffER
LA i1 = 95 & 1.5
AN IR Rl = 95 i L5
REEEN = 95 & 1.5
Rfthisten




